
izkn”kZ iz”ui= & I fo’k; & 
thofoKku ¼203½ 

Suject : Biology 
d{kk 12oha 

le; % 03 ?k.Vs iw.kkZad & 70 
Time : 03 hours Maximum Marks:70 

funsZ”k %& ¼i½ lHkh iz”uksa dks gy dhft,A 
Instraction (i) Attempt all questions. 
¼ii½ mÙkj esa ;fn vko”;d gks]rks fp=ksa vFkok js[kkfp=ksa dk lekos”k dhft,A 
(ii) Use diagrams or flowchart if necessary.

¼iii½ iz”u Øekad 23 ls 26 rd dss iz”uksa vkUrfjd fodYi fn, x, gSaA 
(iii) In question Nos. 23 to 26 internal options are given.

¼iv½ iz”u Øekad 1 ls 5 rd vfry?kqmÙkjh; iz”u ij 1 vad vkcafVRk gSA 
(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.

¼v½ iz”u Øekad 06 ls 10 rd y?kqmÙkjh; iz”u gSaA izR;sd iz”u ij 2 vad vkcafVRk gSA ¼mÙkj 
dh vf/kdre “kCn & lhek 30 “kCn gS½ 

(v) Question nos. 6 to 10 are  short type questions. Each questions carries 2 marks.[Maximum word limit of
answer is 30 words.]

¼vi½ iz”u Øekad 11ls 22 rd y?kqmÙkjh; iz”u gSaA izR;sd iz”u ij 3 vad vkcafVRk gSA ¼mÙkj 
dh vf/kdre “kCn & lhek 50 “kCn gS½ 

(vi) Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word
limit of answer is 50 words.]

¼vii½ iz”u Øekad 23 rd nh?kZmÙkjh; iz”u gSaA bl iz”u ij 4 vad vkcafVRk gSA ¼mÙkj dh 
vf/kdre “kCn & lhek 75 “kCn gS½ 

(vii) Question nos. 23 is long answer type questions. this questions carries 4 marks.[Maximum word limit of
answer is 75 words.]

¼viii½ iz”u Øekad 24 ls 26 rd nh?kZmÙkjh; iz”u gSaA izR;sd iz”u ij 5 vad vkcafVRk gSA 
¼mÙkj dh vf/kdre “kCn & lhek 150 “kCn gS½ 

(viii ) Question nos.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word 
limit of answer is 150 words.]

iz”u 1-& ?kkl dh ,d iztkfr ds o`{k dk uke fyf[k, tks ipkl ls lkS o’kksZ esa ,d ckj iq’Ik 
mRiUu djrk gSa \          1 

Q.1.- Write the name of a tree belonging to grass species, which blows in once at every 50 to 100 years.

iz”u 2-& eknk ,ukfQfyt ePNj ds dkVus ij euq’; ds “kjhj esa fdl jksxk.kq dk lapj.k 
gksrk gSa\ 1 

Q.2.-  Which pathogen in Transmitter in the human body on the bite of  female anopheles.

iz”u 3-& e/kqesg jksx ds funku gsrq fdl gkeksZu dk mi;ksx gksrk gS \  1 
Q.3.- Which harmon is used in the treatment of diabetic .

iz”u 4-& fdl izdkj dk fijkfeM dHkh mYVk ugha curk gS]lnSo lh/kk curk gSa\ 1 
Q.4.- Which type of pyramid is always errect and have enverted .

iz”u 5-&dkcksZfud pV~Vkuksa ds vi{kj.k ls dkSu&lh xSl eqDr gksrh gS \ 1 
Q.5.- Which gas is releated by the abilation of carbonic rocks.
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iz”u 6-& ,fEuvkslsUVsfll ij D;ksa jksd yxk nh x;h\ dksbZ nks eq[; dkj.k fyf[k,A 1+1=2 
Q.6.-  Amniocentesis is banned . why\ write any two main reasons. 

 
iz”u 7-& xq.klw= dk og jksx tks 21osa xq.klw= esa vf/kdrk ls gksrk gS] dqy xq.klw= dh 

 la[;k 47 gksrh gS] mlds nks y{k.k fyf[k,A     1+1=2 
Q.7.-  Genetic  disorder which takes peace by the addition of  chromosomes in 21st chromosome and total 
number. of chorosomes is 47 write two characteristios fit . 
 
iz”u 8-& Mªk;ksfiFksdl ekuo dh nks fo”ks’krk,a fyf[k,\     1+1=2 
Q.8.-  Write two characteristics of DRyopithecas man. 
 
iz”u 9-& i”kq iztuu esa iz;ksx dh tkus okyh fof/k;ksa esa loksZÙke fof/k dkSu&lh gS] vkSj  

D;ksa\           1+1=2 
Q.9.-  Which is the best method of animal breeding and why used in breeding. 
 
 

iz”u 10- mu lw{ethoksa ds uke fyf[k;s tks fuEufyf[kr mRiknksa ds O;kolkf;d mRiknuksa esa 
lgk;rk djrs gSa %&         1+1=2 

  ¼1½ LVsuhu   ¼2½ C;wVsfjd vEy 
Q.10.-  Write the name of microbes which help in commercial production of the following. 
 (1) stanine   (2) Buteric Acid 
 
iz”u 11-& uj ,oa eknk euq’; esa ckg~; ykSafxd y{k.kksa Ropk] cky ,oa da?ks ds vk/kkj ij 

varj fyf[k,A          1×3=3 
 
Q.11.-  Differentiate between male and female human external sexual characters the heads given points. 
Skin, Hair,and Shoulder 
 
iz”u 12-& izk;% ikS/ks ds iq’Ik cgqjaxh gksrs gSa] D;ksa\ dksbZ rhu dkj.k crkb,A  1×3=3 
Q.12.-  Generally flowers and multicoloured. why ? write any reason three 
 
iz”u 13-& uj e/kqeD[kh esa 16 xq.klw= gksrs gS tcfd eknk e/kqeD[kh esa 32 xq.klw= gksrs gSa 

dkj.k crkb;s\           3 
Q.13.-  Male honey bee has 16 chromosomes where of female has 32 chromosomes give  reasons. 

 
iz”u 14- fuEufyf[kr fn;s x;s y{k.kksa ds vk/kkj ij iqusV oxZ dk fuekZ.k dhft,A budk 

thuksVkbi ,oa fQuksVkbi vuqikr Hkh fyf[k,A     1½+1½=3 
   yky iq’i¼izHkkoh½  lQsn iq’Ik ¼vizHkkoh½ 
Q.14.-  Prepare a punnet square on the basis of characters given below. Write genotype and phenotype ratio 
too. 
  Red flower (Dominated) White flower ( Recessive)  
 
iz”u 15-& leo`frrk dks mnkgj.k nsdj le>kb, \      3 
Q.15.-  Explain analogy with examples. 
 
iz”u 16-& ekufld vLoLFkrk D;k gSa\ blds dksbZ nks dkj.k fyf[k,\   1+2=3 
Q.16.-  What is mental  disability \ write its two reasons. 
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iz”u 17-& eosf”k;ksa esa vUr% iztuu ls D;k gkfu gS] fyf[k, bls fdl izdkj jksdk tk ldrk 
gSaA             3 

Q.17.-  What is the harm in cattle by interbreeding write how it can stop in cattle. 
 
iz”u 18-& ,d 21 lky ds ;qod dks ;g irk pyrk gS fd muds tSfod firk lanhi dqekj 

Fks og ;qod ;g nkok fdl tk¡p ds vk/kkj ij dj jgk gSA bldk laf{kIr o.kZu Hkh 
dhft,A           1+2=3 

Q.18.-  A yong (Youth) of 21 years old came to know that his biological father was sandeep kumar. On what 
ground that youth is claming. Describe in brief about the method. 
 
iz”u 19-& uhe ds isM+ ij vejcsy dk ikS/kk mxrk gS nksuksa dh chp dh ikjLifjd fØ;k dk 

o.kZu dhft, \           3 
Q.19.-  Cuscutta (Amerbel) grown over neem plant. describe the personal relation process between them. 
 
iz”u 20-& nhikoyh dh [kq”kh esa dh tkus okyh vkfr”kckth ls fdrus izdkj ds iznw’k.k gksrs gSa 

eq[; iznw’kd lfgr iznw’k.k ds uke fyf[k, \       3 
Q.20.-  How many types of polulation are created by fire crakers in the festive mood of Diwali. write the 
main polution and other polution names. 
 
 
iz”u 21- fuEufyf[kr LFkkuksa esa ik;s tkus okys jk’Vªh; m|kuksa ds uke fyf[k, %& 1×3=3 

 ¼1½ fcgkj jkT; ds iykew ftys esaA 
  ¼2½ mÙkjk[k.M ds uSuhrky ds iklA 
  ¼3½ rfeyukMw esa psUubZ ds iklA 
Q.21.-  Write the names of nationl parks found in the following places. 
 (1)  In palamu district of Bihar State. 
 (2) Near Nainital of Uttarkand. 
 (3) Near Chennai in Tamil Naidu. 
   
iz”u 22-& tyksn~fHkn ikS/kksa ds rhu vkoklh; vuwdwyu fyf[k, \  1×3=3 
Q.22.-  Write three  habetual adaptative features of hydrophyles. 
 
iz”u 23-& Mh-,u-,- dksf”kdk f>Yyh ls ugha xqtj ldrk gS] thok.kq dksf”kdk dks Mh- ,u-,-

ysus gsrq l{ke cukus ds fy, D;k fd;k tkrk gSa\ la{ksi esa le>kb;sA   4 
Q.23.-  D.N.A. can not pass through cell- membrane. what is being done with bacterial cell to accept D.N.A. 
Describe in brif. 

vFkok ¼OR½ 
  Mh- ,u-,- dks “kq/n :Ik ls eqDr djus gsrq dksbZ pkj mik; fyf[k,A 

  Write any four methods to get  free pure D.N.A. 
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iz”u 24-& iq:’k tuura= dk ukekafdr vkjs[k cukdj fuEu Hkkxksa dk ,d izeq[k dk;Z 
fyf[k,aA          2+3=5 
 ¼i½ ljVksyh dksf”kdk  ¼ii½ fyfMax dksf”kdk,a  ¼iii½ “kqØokgd 

Q.24.-  Draw a labelld sketech of male reproductive system and write one main function of following part. 
 (i) Sartoli Cells   (ii) Leyding cells  (iii) Vasdeferens. 
 

vFkok¼OR½ 
,d L=h tuu ra= dk ukekafdr vkjs[k cukdj fuEu Hkkxksa dk ,d izeq[k dk;Z 
fyf[k,A 

  ¼i½ dhid   ¼ii½ >Yyjh ¼>kyj½   ¼iii½ v.Mk”k; 
Draw a labelld sketech of female reproductive system and write one main function of following part. 

 (i) Infunda bulam   (ii) Fimbreae   (iii) Ovary 
 
iz”u 25-& ml lao/kZu esa tgk¡ bZ-dksykbZ of̀/n dj jgk gks ySDVkst Mkyus ij ySd& vksisjkWu 

mRiszfjr gksrk gSA rc dHkh lao/kZu esa ySDVkst Mkyk tkrk gS ySd & vksisjkWu dk;Z djuk 
D;ksa can dj nsrk gSa\          5 

Q.25.-  In the medium where E. coli was growing lactose was added which indulge the lac operon. Then 
why does lae operon shut down some time  after addition of lactose in the medium 
 

vFkok ¼OR½ 
eslsYlu rFkk LVky }kjk bZ0 dksykbZ ij fd;s x;s v/nZlaj{kh d`fr;u ds iz;ksx dks 
fp= lfgr fyf[k,A 
write the semi conservative experiment of E.cole conducted by MESELSON and STALL  with 
diagram. 

  
iz”u 26-& dqN ikjEifjd NÙkhlx<+ ds vkgkj tks xsgw¡] pkoy] rFkk puk ls curs gSa] ftuesa 

lw{ethoksa dk  iz;ksx “kkfey gks muds uke crk,¡ ,oa fdlh ,d ds cukus dk fooj.k 
fyf[k, \            5 

Q.26.-  Name same traditional chattisgarh foods made of wheat rice and gram which invalve the use of 
microbes Describe one of them  method of its preparation. 

 
vFkok ¼OR½ 

 fdl vkgkj esa ySDVhd vEy cSDVhfj;k feyrk gSa buds pkj ykHkizn mi;ksxksa dk fooj.k 
fyf[k, \ 

 In which food would you find lactic acid Bacteria mention any four useful write applications. 
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izkn”kZ iz”ui= & II 
fo’k; & thofoKku ¼203½ 

     Suject : Biology 
d{kk 12oha 

le; % 03 ?k.Vs        iw.kkZad & 70 
Time : 03 hours         Maximum Marks:70 
 
funsZ”k %& ¼i½ lHkh iz”uksa dks gy dhft,A 
Instraction (i) Attempt all questions. 
¼ii½ mÙkj esa ;fn vko”;d gks]rks fp=ksa vFkok js[kkfp=ksa dk lekos”k dhft,A 
(ii) Use diagrams of flowchart it necessary. 
¼iii½ iz”u Øekad 23 ls 26 rd dss iz”uksa vkUrfjd fodYi fn, x, gSaA 
(iii) In question Nos. 23 to 26 internal options are given. 

¼iv½ iz”u Øekad 1 ls 5 rd y?kqmÙkjh; iz”u ij 1 vad vkcafVRk gSA 
(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.  
¼v½ iz”u Øekad 06 ls 10 rd vfry?kqmÙkjh; iz”u gSaA izR;sd iz”u ij 2 vad vkcafVRk gSA 

¼mÙkj dh vf/kdre “kCn & lhek 30 “kCn gS½ 
(v) Question nos. 6 to 10 are very short type questions. Each questions carries 2 marks.[Maximum word limit 

of answer is 30 words.] 
¼vi½ iz”u Øekad 11ls 22 rd y?kqmÙkjh; iz”u gSaA izR;sd iz”u ij 3 vad vkcafVRk gSA ¼mÙkj 

dh vf/kdre “kCn & lhek 50 “kCn gS½ 
(vi) Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word 

limit of answer is 50 words.] 
¼vii½ iz”u Øekad 23 rd nh?kZmÙkjh; iz”u gSaA bl iz”u ij 4 vad vkcafVRk gSA ¼mÙkj dh 

vf/kdre “kCn & lhek 75 “kCn gS½ 
(vii) Question nos. 23 is long answer type questions. this questions carries 4 marks.[Maximum word limit of 

answer is 75 words.] 
¼viii½ iz”u Øekad 24 ls 26 rd nh?kZmÙkjh; iz”u gSaA izR;sd iz”u ij 5 vad vkcafVRk gSA 

¼mÙkj dh vf/kdre “kCn & lhek 150 “kCn gS½ 
(viii ) Question nos.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word 

limit of answer is 150 words.] 
 
iz”u 1-& ckjg o’kZ esa iq’Ik mRiUu djus okys o{̀k dk uke fyf[k, tks dsjy ,oa rfeyukMw 

dh igkfM+;ksa esa ik;k tkrk gSa \        1 
Q.1.- Write the name of that tree which blooms in every twelve years in the hills of Kerla and Tamil Nadu. 

 
iz”u 2-& eysfj;k jksx esa fdl fo’kSys inkFkZ dk jDr ls eqfDr dj.k gksrk gSa\   1 
Q.2.- Which toxic substance is get free The blood during Malaria disease. 
 
iz”u 3+& e/kqesg jksx ds funku gsrq ftl gkekZsu dk mi;ksx gksrk gS] bldk ekuo fufeZr 

gkekZsu dk uke fyf[k,A         1 
Q.3.- Write the name of man made hormone which is used a dibeitc disease. 

 
iz”u 4-& fdl ifjfLFkfrd ra= dh la[;k dk fijkfeM mYVk curk gSA   1 
Q.4.- Which Eco system of number pryemid in forms in verlid. 
 
iz”u 5-& ydM+h ,oa thok”e bZ/ku ds tykus ls dkSu lh xSl eqDr gksrh gSaA   1 
Q.5.- Which get in evolned duty the burning of wood of fossi  is fuel. 
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iz”u 6-& Hkkjr esa MTP dks dc dkuwuh ekuk x;k vkSj D;ksaA     1+1 
Q.6.- Why and where MTP is legalized in India. 
 
iz”u 7-& ,sls ekuo dk fyax fyf[k, ftlesa 22 vfyax xq.klw= ds lkFk XXYZ xq.klw=   2 

gksrs  gS] ml fodkj dk uke fyf[k,A ftlls og ihfM+r gSaA 
Q.7.- Write the sex of human in which XXYZ chromosomes are present with 22 autosomal 

Chromosomes.and write in man of the diseases by wich he is suffer. 
 
iz”u 8-& gkseksbjsDVl isdhusfUll dh nks izeq[k fo”ks’krk,¡ fyf[k,A   1+1 
Q.8.- Write two main charateristic of Hemoerector Pekinenses. 
 
iz”u 9-& Ldsfyax D;k gSa\ bldk ,d egRo fyf[k,\     1+1 
Q.9.- What is Scaling write its  one importance. 
 
iz”u 10-& mu lw{ethoksa ds uke crkb, tks fuEufyf[kr mRiknksa ds O;kolkf;d mRiknu esa 

lgk;rk djrs gSa\         1+1 
  ¼1½ isfuflfy;e   ¼2½ flfVªd vEy 
Q.10.- Write the name of micro-organisms which help in the commercial producton in the following. 
  (1) Peniecilam     (2) Citric Acid 
 
iz”u 11-& _rqL=ko pØ ,oa enpØ esa dksbZ rhu varj fyf[k, \     3 
Q.11.- Write any three differences  between menstaral and oestrus cycle 
 
iz”u 12-& ty ijkx.k }kjk ijkfxr ikS/kksa ds dksbZ rhu fo”ks’krk,a fyf[k,a\    3 
Q.12.- Write any three chareteristcs of the flowers which are pollinater by water. 
 

iz”u 13-& Vh-,p- ekxZu }kjk fn, x, lgyXurk ds iz;ksx ds rhu fu’d’kZ fyf[k, \  3 
Q.13.- Write any three conclusion of experiment of linkage conducted by T.H. morgan. 

 
iz”u 14-& fuEufyf[kr fn, x, y{k.kksa ds vk/kkj ij iqusV Ldsoj dk fuekZ.k dhft, \ 
  ¼1½ xksy cht ¼izHkkoh½  ¼2½ >qjhZnkj cht ¼ vizHkkoh½ 

bldk thuksVkbi ,oa QhuksVkbi vuqikr Hkh fyf[k,A 
Q.14.- Prepare a punnet square on the basis of following characters. 
  (1) Round seed (Dominats)  (2) Wrikled seed ( Recessive) 
 Write there Genotype and Phenotype ratio. 

 
iz”u 15-& letkrrk dks mnkgj.k nsdj le>kb, \ 
Q.15.- Explain homologous with examples. 

 
iz”u 16-& jk’Vªh; Vhdkdj.k dk;ZØe D;ksa vko”;d gS] blds nks dkj.k fyf[k, \  3 
Q.16.-  Why National Vaccination Project is important. write its two reasons. 

 
iz”u 17-& ;fn eVj dh tM+ksa dh xzafFk;ksa dks u’V dj fn;k tk; rks ikS/ks ij D;k izHkko 

iM+sxk \ foospuk dhft, \         3 
Q.17.- What will be effect on pea plant in its nodulated roots are destroyed. explain it. 
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iz”u 18-& fdlh jsy nq?kZVuk ds nkSjku vusd ;k=h brus vf/kd ty x, fd mUgsa igpkuuk 
Hkh dfBu gks x;k] ml vk/kqfud rduhd dk uke crkb, rFkk mldk o.kZu Hkh 
dhft, ftldh lgk;rk ls muds “ko muds fj”rsnkjksa dks lkSais tk ldsaA     1+2 

Q.18.- A number of passenger were severely burnt beyond recognition during a train accident name and
describe a modern technique what can help to hand over the dead bodied to their relatives. 

iz”u 19-& vkfdZM ikS/kk] egqvk ds isM+ dh “kk[kk ij mx jgk gS] vkfdZM vkSj egqvk ds isM+ 
ds chp ikjLifjd fØ;k dk o.kZu dhft, \ 3 

Q.19.- Orchid plant in growing over the twig of “ MAHUWA Tree “  explain the natural process between
orchid and mahuwa tree. 

iz”u 20-& Hkwty vo{k; ,oa bldh iqu% iwfrZ ds mik; fyf[k, \ 3 
Q.20.- What is Ground water deprectiation and what are effect of this redeprectiation

iz”u 21-& fuEufyf[kr LFkkuksa esa ik, tkus okys vH;kj.kksa ds uke fyf[k, \ 3 
¼1½ xfj;kcan ftyk esaA 
¼2½ cLrj ftyk esaA 
¼3½ cykSnk& cktkj ftyk esaA 

Q.21.- Write the name of sanctu found in the following places.
(1) District  Gariaband   (2) District Baster.  (3) District Baloda- Bazar.

iz”u 22-& e:nfHkn~ ikS/kksa ds rhu vkoklh; vuqdwyu fyf[k, \ 3 
Q.22.- Write any three habitate adaptation of xerophytic plants.

iz”u 23-& tSo izkS|ksfxdh ds iz;ksxksa esa dksf”kdk dks ** l{ke ** cuk;k tkrk gS] ,slk djus esa 
Ca++ fdl izdkj lgk;rk djrk gSA       4 

Q.23.- In the experiments of biotechnology the cell is made **component** white doing so how Ca++  helps.

vFkok ¼OR½ 
tSo izkS|ksfxdh iz;ksxksa esa **tSo izk{ksfid ¼thu½ xu ** dh Hkwfedk fyf[k, \ 
Write the role  of biolistic of gene-gun in the experiments of biotechnology. 

iz”u 24-& ,d ifjiDo Hkwz.k dks’k dk ukekafdr vkjs[k cukdj fuEu Hkkxksa dk ,d izeq[k dk;Z 
fyf[k, \           5 

¼1½ v.M 
¼2½ f}rh;d dsUnzd 
¼3½ lgk;d dksf”kdk 

Q.24.- Draw a labeled sktech of mature embryo sac and write one main function the following
(1) Egg (2) Secondary Nucleas (3) Synergids

vFkok ¼OR½ 
,d iq’Ik ds yacor dkV dk ukekafdr vkjs[k cukdj fuEu Hkkxksa dk ,d izeq[k dk;Z 
fyf[k,A 

¼1½ ijkx.k ufydk 
¼2½ ofrZdkxz 
¼3½ ijkxd.k 

Draw a labeled sketch of longitudinal seation of a flower and write the one main funtion of the 
following :- 
(1) Pollen- Tube (2) Stigma (3) pollen grain
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iz”u 25-& ihys cht okys yacs ikS/ks ¼YyTt½ dk ladj.k gjs cht okys yacas ikS/ks¼yyTt½ ls djus 

ij fuEu esa ls fdl izdkj ds QhuksVkbi larfr dh vk”kk dh tk ldrh gS] 
fuEufyf[kr dh la[;k Hkh fyf[k, \       5 

 ¼d½ yacs gjs  ¼[k½ ckSus gjs 
Q.25.- Which Type of Phenotype generation is possible if yellow seed and tall plants and crossed  with green 

seed and long plant ¼yyTt½ . Write their numbers also . 
 (a)Long green  (b)  Dwarf green. 

 
vFkok ¼OR½ 

 f”k”kq dk :f/kj oxZ ^0^ gS] firk dk :f/kj oxZ ^A^ gS vkSj ekrk dk :f/kj oxZ ^B^ gS] 
tudks dk thuksVkbi ekywe djsa ,oa vU; larfr esa izR;kf”kr thuksVkbi dh tkudkjh 
nsosaA 
 A child has blood group ‘o’ . if the father has blood group ‘A’ and mother blood group ‘B’ work out 
the genotypes of parents and the possible genotypes of their other offsprings. 

 
iz”u 26-& fdUgh ik¡p Qly ds ldj fdLeksa dk uke crkb,] ftudk fodkl Hkkjro’kZ esa 

gqvk gSA           5 
Q.26.- Name any five hybrid varieties of crop plants which have been developed in India. 

vFkok ¼OR½ 
 jksx izfrjks/kd Qly izkIr djus ds fy, d`’kd ds }kjk mi;ksx fd;s tkus okys 

fofHkUu pj.kksa dks Øe ls fyf[k,A 
Write down the various steps which are used by formers to cultivate pest resistance crops. 
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